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Opinion Sharing

Using AREA

Mame:

Student ID:

Warm up:
AAA Conversation: Answer, Add, Ask

{ Question: ?

Answer

Add details

{ (Reaction + Ask a follow-up quesfion)
OR
(Reaction + By the way+ new guestion)

-
~
w
o
@

How to score:

Position (eye contact, face your partner)

Answer + Add details (say two things) 3= perfect, like a native speaker

2= good; | made some mistakes
1= okay; | will try harder
0= | made many mistakes | will try harder

Reaction {words, gestures, tone/voice)

Follow-up Questions
By the way
Use only English

1. Opinion Writing and Sharing

Topic1

I think that hecause:
.

.

Topic 2:

| think that because

2. AREA: Assertion, Reason, Example, Assertion

Example 1:___Which do you prefer: winter vacation or summer vacation?

Assertion: Ithink that summer vacation is better than winter vacotion
Reason: because the weather is worm so | can ploy my fovorite sports
Example: For example, { can ploy tennis and qo swimming during summer vacation but it is too cold
te play tennis or go. during winter vacation
Assertion:  Therefore, Summer vacation is better than winter vacation -
Note: An AREA paragraph has one topic.  The reason is general and the example is specific

1. Read the examples and write Af R [ E [ A over each part of the paragraph.
Exampie:

A
I think that summer vacation is better than winter vacation fhecause the weather is warm so | can play
my favorite sports. fFDr example, | can play tennis and go swimming during summer vacation but it is too cold to

A
play tennis or go swimming during winter vacation fTharefore, summer vacation is better than winter vacation.

Example 2 Should students wear uniforms?

| think that high school students should wear uniforms because students will have more free. For example,
students who don't wear a uniform spend a lot of time choosing their dlothes. If they wear & uniform, they will can
spend time studying or doing club activities. In condusion, students should wear uniforms because they will have
mare free time.

Example 3: Would you rather live in a large city or a small town?

I would rather live in a large city than a small town because there are many things to do in a large city. For
example, large cities have many museums, good shopping centers, world heritage sites, and many tourists. You can
always try something new in a large city. Therefore, living in a large city is better than living in a small town because
large cities are exciting.

Example 4: Would you rather live in a large city or a small town?

I would rather live in a small town than a larger city because small towns are less expensive. For example,
a large city is so loud because there are so many people but a small town has fewer people so itis very quiet. Therefore,

living in a small town is better than living in a larger city.

#&##12] Opinion Sharing 7—2>—hk2

1. Let’s try writing an AREA paragraph

Sample Presentation:

4. | Hello everyone. Today's topicis _love or money.  Let's share our opinions.

2. We had___ 3  speaker(s) who think that,
And 1 speaker(s) who think(s) that iove

mongy s better than love

is better than maney

3. Here are some reasons why_money is better than fove .
1. You need money to live

2. Money can buy anything

3. Money makes peopile happy

4

One example is you need money to buy food at the grocery store.

4. Here are some reasons why, love is better than money

1. Youcan't buy love
2
3.
4

One example is if someone loves your money then it is not true iove.

1, In conclusion, (more/! the same amount of) people think that__money is better than love

Presentation:

-

1. | Hello everyone. Today's topic is . Let's share our opinions.

To Which is better: doing a job that you enjoy or mal a lot of mon
Assertion (1%) I think that
Reason because
Example: For example,
Assertion Therefore,
(Conclusion):
Remember: Linking Words
®  Use linking words Assertion (1) Reason Example Assertion (conclusion)
U — 1 think [that) because... | For example, Therefore,
®  ‘rite until the end of each ine | | believe (that) sinoe.. For instance, In Conclusian,
To demaonsirate, For this reasaon,
2. Topic2:
Let’s listen to each other’s opinions!
1. name 2. name:
Assertion. Asserfion:
Reason Reason:
Example Example
3 name 4. name:
Assertion. Aggertion:
Reason Reason:
Example. Example

5. | Wehad wha think that is batter than
And spesker(s) who thinkis) that is better then
3. | Here are some reasons why is better than
1
2
3
4
One example is
4. | Here are some reasons why is better than

1
2
2

4

One example is

4. | In conclusion, (more I the same amount of) people think thst is batter than
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@ Opinion Writing Name

Opinion Writing: Essay
a

When you give more than one reason, you write an essay. An essay has four paragraphs.

Sample question: Should students be allowed to use cell phones in school?

Students should be allowed to use cell phones becsuse
students will be safer (reason 1) and students can improve their learning

(reason 2).

[&] First, cells phones should be allowed in schools
becauge students will be safer.
[EqFor example,

[Aq Therefore,

[A] Mext, students should be able to use cell phones in schaol
because students can use them to improve their learning.
[E] For instance,

[

Single Reason Using AREA Student 1D:
b

Topic: Should students wear uniforms?
Example:

Assertion: | think that students should wear a uniform

Reason: because __they will have more free time

Example For example, they don’t have to spend time choasing their clothes The can spend time

studying and playing with their friends

Assertion:  Therefore, I think students should wear a uniform -
Let’s Review!
1. Topic:

Assertion: | think that

Reason because

Example: For example,

Assertion Therefore,
Remember: Linking VWeords:
®  Use linking words Assertion (1*) | Reason Example Assertion (conclusion)
*  indent[ ] 1 think (that) . because... | For example, Therefare,
®  \rite until the end of esch line | | believe jthat) ... since... Forinstance, In Conclusion.

To demansirste For this reason

2. Topic:

In conclusion, cell phones should be allowed in schools
because students can improve their learning (reasen 2) and students will
-

be safer {reason 1).

**in the conclusion, reason 1 = reason 2

Example Essay 1: Should students be allowed to use cell phones at school?

‘Students should be allowed to use cell phones in the classroom because the students will be safer and
students can use their cell phones to improve their learning.

First, students should be allowed to use cell phones in the classroom because they will be safer. For
example, if there is an emergency such as a fire or an earthquake, the students can tell their parents that they are
safe Therefore, students will be safer if they can use cell phones

Mexd, students should be allowed to use call phones in the classroom because they can improve the
students’ learning. For example, there are apps that can help students to leam and study Therefore, using cell
phones in class enhances students’ learning.

In conclusion, it is a good idea to allow students to use cell phones in the classroom because it will improve

students’ learning and students will be safer.

p.2
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Example Essay 2: Should Japan allow more foreigners to move to Japan?

Japan should allow foreigners to move to Japan because Japan's workforce is decreasing and we can
leam about ofher cultures

First, Japan should allow more foreigners to come to Japan because Japan's workforce is decreasing. For
example, Japan has many elderly people and not many babies. Japan needs more workers and there are no
Japanese people to do the jobs. Therefore, Japan should allow maore foreigners to come to Japan.

Second, it's a good idea for Japan to take more fereigners because we can learn about other cultures. If
many foreigners come to Japan, they will teach us about their countries. For example, we can learn about festivals,
languages, and manners from other countries. Japanese people can broaden their views. Therefore, Japan should
allow more foreigners fo move to Japan.

For these reasons, | think Japan should allow more foreigners to live in Japan.

Essay Activity
Read Example Essay 1 & 2 and then answer the following questions with a partner
1. Draw a box around the indents

Write &, R, E, and A over the AREA paragraphs.

Circle all of the linking words (First, Mext, | think, because, for example, therefore.

2
3.
4. Underling the reasens in the intreduction and conclusion
5. Translate any words you don't know

Essay Practice:
Topic:

Write short memas:

Remember: Linking Words:
#  Uselinking words Assertion (1) | Reason Example Assertion (conclusion)
® nde[ ] | think (that) . because... | For example. Therefore
®  Wiite until the end of each line | | believe (that) ... since... Forinstance, In Conclusion.
Ta demanstrate. For this reasan.
Final Copy:

Assertion because reason 1 and reason 2

AREA 1:

A

Conclusion: cenclusion word, Assertion because reason 2 and reasen 1.

p. 3




[#&#15] English Debate 7—2>—hD

name:

‘L' English Debate:
B E

Debate starts with a “resolution”
Students should wear uniforms

The resolution is the topic. It is a statement — not a question.

ve team agrees: Students should wear uniforms
The Negative team disagrees: Students should not wear uniforms

-

These are the parts of a debate:

]z

Contructive Speech
(AREA Essay)

Attack Speech ¢
(1st Rebuttal)

>, Defense Speech
A (2nd Rebuttal)

Brainstorm + Critical Thinking:

Japanese English Fact | impact

| importance |

T
|
|
|
|

Check 3 things:
Fact: always true

Impact: How many people does it affect?

,@ Importance:

Example Brainstorm: Students should not wear uniforms

[Ressons  —  leetTwpaa

| Uniforms are expensive O | Everyone - 100% 1
| Students can leamn fashion "-0‘ People;;o i-k;z fashion = 00";

| Girls who must wear skirts | O | Onlygils—50%

are less successful

1. Constructive Speech/ Area Essay:

Plan:
: We, the (Affi 1 Neg: team, think
because (R1)
and (R2)
AREA1 AREA2
&
Therefore, (Resolution) because (Reason 2) and (Reason 1).
R
g & =
Remember: r{’ o e
i | Paragraph | Assertion | Reason Example Assertion (last) |
+  Add details{explain, story, opinion) | First ‘ {1 think) ...because... | For example, Therefore, |
»  Saythe assertion different ways | Next 1 {I believe) | ... since. For instance, ... In Conciusion, J
L -
«  Use linking words ->
Listen to the other team’s Constructive Speech and take memos:
AREA1 AREA2

[#&F#16] English Debate 7—2>—h2

2. Attack Speech:

You said a eute beyfriend
is better because.

(That may be trusl But | disagres becaus

notafact |

appearance is important
disadvantage

you will be happy when

you lock at his face ‘speaks to you

but that's just your opinion. Some peapfe don't think appearance is imporiant
it has & dissdvantage. A cule boylriend isn't kind £o you will feel sad when he

high schood students like
cute boys.

| my frlends will feel jealous

small impact it has @ smail impact. High school students is a small number of pacple in

Japan.

not important

it's not important, Your friends feefing jealous is nat impartant for a relationship

countarptan | feel happy when | ses his | | have a counter-plan. You don't need = cute boyiriend to fest happy, ¥ you

| face date 8 kind boyfriend, his words wil make you happy

true for both sides | | can experience love r‘ It's true for both sides. You can experience love with & kind boyfiend, too,

AREA1

1. First, you said

because

2. {But| disagree because/ that may be true but)

1. Next, you said
because

2. (Buti disagree bacause,/ that may be true but) _

3. Therefore,

Listen and write memos

Attack 1 Attack 2

w

First, you said that a cute boyfriend is better becguse you can become happy by looking at his face. (That may be true bulf |

disagree because) it has a disadvamtage. You will become sad when he speaks to you because a cule boyfriend isn't kind, !

Thersfors, & kind boyfriend Ia better. |
Defense 1:

First, you said that a kind boyfriend is better because you will become sadwhen he speaks to you. (That may be true but'| disagree

because) i's not impartant. For example, | won't talk to my boyfriend very ofien. Most people work hard and are tired after work.

They spend a kot of quist time with thelr husband or wife. We won't talk a lot, 50 | will fezl happier with a cute boyfriend. Thesefore, |

1 end i r than @ kind boyliend.

Defense 1:
1. First, you said
because

2 (That may be true but! Bul | disagree because),

3  Therefore,

Defense 2:

1 Next, you said

because

2 (Thatmay be frue but! But | disagree because),

3 Thersfore,

Listen and write memos

Defense 1 Defense 2
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